Click to Print logout
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Question 1.Select the related word/letters/numbers from the given alternatives:

& 72 faewedt 7 @ Hafeerd eree)sarl/aear & gfav

Pesticide : Plant :: 2 : ?

Options:

1) Medicine : Cure

3ifr ; 3TER

2) Injection : Fever

Srolaele : SaX

3) Vaccination : Baby

ErenrehoT : fRR]

4) Sinarest : Cold

TR : ST

Correct Answer: Vaccination : Baby
EremTehaoT : TRy

Candidate Answer: Medicine : Cure

3l 3yER

Question 2.Select the related word/letters/numbers from the given alternatives:

& 71 faemedt 7 @ Hafeerd eree)sarl/aear & gfav)
Select the related letter/word/number from the given alternatives.

38 el H 1oU a1V fehetl & & Gealetra ee/3eRl/TEar S giav|
ZXVT : ACEG :: SQOM :?

Options:

1) FHIL

2) HILN
3) JLMO

4) IKMO
Correct Answer: HILN
Candidate Answer: HILN

Question 3.Select the related word/letters/numbers from the given alternatives:

& T fashent O G ey 37eRY/TEdT Y giav|
Select the related letters/words/numbers from the given alternatives.

54 el A 3w 1w fyenedl & & wrafeea eree/ st/ wEar & giav)
4:12::5:7

Options:

1) 25

2)20

3)22

4) 30
Correct Answer: 20
Candidate Answer: 20
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Question 4.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

30 el # foU 10 fehedl & & fawey erscl/ster/eansit i giav|

Options:
1) Red
oflel

2) Brown

;o
3) Green

[3U
4) Yellow
Sy

Correct Answer: Brown
T

Candidate Answer: Brown
T

LN

Question 5.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

50 9T # feU 10 faehedl & & fawe ercl/steR/weansit i giav|

Options:
1) FIHG

2) CGEF
3) IMLK

4) VYXW
Correct Answer: CGEF
Candidate Answer: CGEF

Question 6.

For the following questions

Find the odd numbers/letters/numbers from the given alternatives.

58 el # 1T 10 fehedl & & Tawe ereal/3ter/aEansit #1 giav|

Options:
1) 1,0.75, 0.5, 1.25

2)4,3,2,5
3)1,4,28

4)2,15,1,25
Correct Answer: 1, 4, 2, 8
Candidate Answer: [ NOT ANSWERED ]

Question 7.Arrange the following words as per order in the dictionary.
AT ersel I erseshier & T 1T s & 31T fored |

1. NEST 2. NECK 3. NEAT 4. NEAR



Options:
1)4,2,3,1

2)4,2,1,3
3)4,3,2,1

4)4,2,3,1
Correct Answer: 4,3, 2, 1
Candidate Answer: 4, 3,2, 1

Question 8.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.
3H YT A Toh e & 7S ¢, s Tk ue ofcd &1 U 10 faemout # & @Y faehed giTT St el S |

deb, ijg, nol, 2, xyz
Options:

1) stq

2) rsp

3) rsq

4) stp
Correct Answer: stq
Candidate Answer: stq

Question 9.A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the series.

38 99 & Uk HToll &1 1 &, Tore# Ueh ue ofed €1 U 1 faehout & & WY faehod YT St el s 1 |
5,10, 13, 26, 29, 58, 61, ?

Options:

1)122

2) 125
3) 128

4) 64
Correct Answer: 122
Candidate Answer: 122

Question 10.A man is engaged for planting trees for 10 hours. He plants 10 trees in an hour. He takes rest for 30 minutes after every hour. How many trees does he
plant in 10 hours?

Teh 3TEH T U8 o1 & foIv 10 €2 oW 7T | g8 Ush € & 10 93 oR1dT & 3R I & & §1¢ 30 fAde 3R T &1 381 10 8¢ & Fder 93 oRme ?

Options:
1) 100

2) 50
3)70

4) 45
Correct Answer: 70
Candidate Answer: 50

Question 11.Golu is son of Bhola. Sheetal is daughter of Golu. Chitra is daughter of Dilip and Dilip is brother of Bhola. How is Chitra related to Sheetal?

ey, sivem T O | eherer , Ao A &1 R, e 7 g & 3R e, sivem S &1 R v eerer & o wae
Options:

1) Sister

ErGl

2) Mother

HIAT

3) Aunt

3T

4) Mother in law

|

Correct Answer: Aunt
3T

Candidate Answer: Aunt
3T



Question 12.From the given alternative words, select the word which cannot be formed using the letters of the given word:
rATaf@d fashed & & 95 2ec AT it feT 1T 2lee & 31eRT T TIWT Ik 761 TAT ST Hehell|

PHOTOSYNTHETIC

Options:

1) THOSE

2) SCENT

3) PRONE

4) COTTON
Correct Answer: PRONE
Candidate Answer: PRONE

Question 13.If in a code language 3456 = ROPE and 15526 = APPLE then 54613 = ?

e fardY 1z T 7 3456 = ROPE § 3R 15526 = APPLE §, df 54613 = ?

Options:
1) RPPEO

2) ROPEA
3) POEAR

4) PAREQO
Correct Answer: POEAR
Candidate Answer: POEAR

Question 14.If '+' means 'X' , '-' means '+', 'X' means '-' and '+' means '+' , then what will be the value of 16 + 4x 10-5+ 8 =7?

IR+ TR X @Y, - AT B, X A I - L AR AT+ @, AT 16 - 4x 10 - 5 + 8 = ? T AF T gRI?

Options:
1) 12

2)8
3)4

4)2
Correct Answer: 4
Candidate Answer: 4

Question 15.Some equations are solved on the basis of certain system. Find the correct answer for the unsolved equation on that basis.
5x4x3=70,

6x5x4 =140

7x6x5=7?

AT FHIROT Teh TAAT JOTTel & 3MUR X gl fohT 912 1 3 3MUR T 3fefecRel FENHIUT T HeY Sceik ATel o

TG 5x4x3=70,

6x5x4=140grar
7x6x5=7?
Options:

1) 210

2) 220

3) 230

4) 240
Correct Answer: 240
Candidate Answer: 240



Question 16.Select the missing numbers from the given alternatives

Tow 10 fashed & & ocd HEET #A1 HIfIT ?

| 8 |13 |72 |117
21| 7 |189| 63
[4]6 ]

| 36 | ?
Options:
1) 65

2) 54
3)72

4) 110
Correct Answer: 54
Candidate Answer: 54

Question 17.Deepu started his journey from A and moves 2 km towards South, then he turns right and moves 2 kilometre. Again he takes a right turn and walks 2
km. Now he takes a left turn and walks 3 km more. How far he is from the starting point?

A & 31T AT A F IR T, 3R T afaIoT A R 2 AL | R ag aifeer 73 9 1/2 T, Te| deavend ag I alfest 73 W 2 R wrer | R g 9 A3 9 3
5.2, 3R =) a5 3w g & e o7 &, 5161 & 3= 3=l I 31mdey hr o 2
Options:

1) 3.5km

3.5 ..

2) 2.5 km

2.5 ..

3) 7.5 km

7.5 fR.a.

4) 1.5 km

1.5 .

Correct Answer: 3.5 km

3.5 ..

Candidate Answer: 3.5 km

3.5 ..

Question 18.Consider the given statement/s to be true and decide which of the given conclusions/assumptions can definitely be drawn from the given statement.
Statements: 1. All parrots are chicks.

2. All birds are chicks.

Conclusions: I. Some birds are parrots.

I1. Some chicks are parrots.

Ffafla uea 7 v a7 &) geraey QY 9 §, 5k 3maY & fAsed/Agang, [ 31 1L fAehrer a2 §) 3maent R = § 7 gorded Ocd § IR 98 OFead: ad azar &
et Il XA &Yl 3mae! Aot aaT & fF U 71T asraey & @ ia-a1 Rfvaa &7 & ag s/ Aadr fAerer ST Fehar § ?
FUT : T A T &1 Tl B

sy : 1. Fo el a8

I F& gt dla 8

Options:

1) Both conclusion I and conclusion II follow

sy 1 3R 11 =t T €

2) None of the two conclusions follows

AT forsahst 7 F FIS ot T AL §

3) Only conclusion I follows

SRy 1 @Y &

4) Only conclusion II follows

sy I @dr g

Correct Answer: Only conclusion II follows

ey 11 T@ar g

Candidate Answer: Both conclusion I and conclusion II follow

s I 311 11 Q=1 T8 &



Question 19.How many triangles are there in the given figure?

& a1 ey 3% R FoT 2

Options:
1) 12

2)8
3) 16

4) 10
Correct Answer: 16
Candidate Answer: 16

Question 20.The diagram below represents the students who study Physics, Chemistry and Mathematics. Study the diagram and identify the region which represents
students who study both Physics and Chemistry but not Mathematics. ?

i few aTw 3my@ # § ezt axie 1w § S sfifadhr, warget 3tk a1fre gea €13 &1 sreaae &Y 3R 98 7 9aTt S 347 faenfia & grifar g s sifadr 3R e
A, At Tect 8 e o1 o et 8f ?

Physu:s/ Chemistry

R r-l—\ A\

5 /45/
Ny

Mathematics

Options:
1T+S+U+P

2)C
3)R+T+A+U+P+S

HT
Correct Answer: T
Candidate Answer: T

Question 21.Which answer figure will complete the pattern in the question figure?

T A Sl SMHIA FeaT TPieT & Yeel T O Y ?




Options:

1)

G
2)
3)
4)
Correct Answer:
Candidate Answer:

Question 22.Select the answer figure in which the question figure is hidden.

U 910 fashedt & & a8 Sca JMTpid A AT TSrae Teaf 3mepiay fAfeer & 2

5




Options:

1)
1 |
[ |
2)
3)
4)
Correct Answer:
Candidate Answer:

Question 23.A piece of paper is folded and cut as shown below in the question figures. From the given answer figures, indicate how it will appear when opened.

e ST 3 few@TT 3THR FRETST T ASH Flew AT Wicke! & d1E Ig 7 Seak e SHar s &am ?

8




Options:
1)

Question 24.If a mirror is places on the line MN, then which of the answer figures is the right image of the given figure?

I Tk gUUT T MN I@T 0 @1 ST A & 318 Sead 3Tpicral 7 & FileT B Tt 92T 3Thfer 1wl wfcifasy g ?

M




Options:
1)

2)

3)

4)

5{,
B
o
i

Correct Answer:

~

Candidate Answer:

~

Question 25.1In this question, the sets of numbers given in the alternatives are represented. The columns and rows of Matrix I are numbered from 0 to 3 and that of
Matrix II are numbered from 5 to 8. A letter from these matrices can be represented first by its row and next by its column, e.g., E can be represented by 00,11, etc.,
and 'T' can be represented by 56, 86, etc. Similarly you have to identify the set for the word 'TOLD'

TS UG el T HEAT-HHE GaNT GRITT 10T &, ¥ To fasredtt # & fondlr vep o foam ara &1 faepedt # foT 970 wear @opg 38R & ar aeif ganT grife o1w §, o fo iy fiw
1T 2 3TegEt 7 81 3Megg 1 & FsT R TRl ot Fear 0 9 3 3R ey 11 T 5 8 8 & 918 §1 57 ST W Ueh 38N o Tged 30ehT Tarell 3R I1G 7 T HEaT gan ariiam
ST Fehell & | 3eTe<T & o 'E' T 00, 11 3ATTe; S@RT &RAET Sff HehelT & 2T ' T 56, 86 3Tfe; ST @A ST &ehell 1 S8 TRE A 3M9aH! faw gU 2reg; TOLD' & forw g 1
g g

M_ATHIX I MATRIX Il

0| 1/2 3 5 6 7 8
O E | TIOD|IS|L|!I |[D|T
1| D|IE|D |T|/&6|1|L|T|D
2| T 1T | E|(|F)] BPF|L ]
3|0 D E|O|B|T|lL|D|L



Options:
1) 67, 30, 55, 13

2) 76, 02, 13, 55
3) 76, 33, 55, 31

4) 85, 02, 23, 31
Correct Answer: 76, 33, 55, 31
Candidate Answer: 76, 33, 55, 31

Question 26."The General Equilibrium Analysis" was developed by

" Heolel TAYeIyor foheey faenfere femarm o ?
Options:

1) Marshall

AT

2) Ricardo

Repraf

3) Walras

dleRH

4) Adam Smith

wsH Ay

Correct Answer: Walras
dreRA

Candidate Answer: [ NOT ANSWERED ]

Question 27.Insider trading is related to

3Ted e SR fFad TFafera § ?
Options:

1) Trade sector

s dFX

2) Share market

A Afpe

3) Credit market

*f3e Afdc

4) Horse racing

geels
Correct Answer: Share market

2RI Alfdhe
Candidate Answer: [ NOT ANSWERED ]

Question 28.The operational period of 12th Five Year Plan is

124} daaNr TS T HRIPTT FIT & ?

Options:
1) 2007-12

2) 2012-17
3) 2015-20

4) 2005-10
Correct Answer: 2012-17
Candidate Answer: 2012-17

Question 29.A Unitary form of government is that in which all the powers are concentrated in the hands of

TehTcHE TIHR F FHAE clehel fhaeh gy A gl § ?
Options:

1) Local government

AT TR

2) Central government

FET TER

3) Provincial government

e AR

4) Panchayats

qard

Correct Answer: Central government
FaRT TER
Candidate Answer: Central government

FolT TEHR



Question 30.The school of Indian art which is also known as the Greco-Roman-Buddhist art is the school

HREART Sl &7 T PisT T TRl § A, YPF-AAeT, Fhg 3" & AT F 37 ST ST 82
Options:

1) Mauryan

AT

2) Shunga

<

3) Gandhara

IYRT

4) Gupta

edr

9

Correct Answer: Gandhara
IYURT

Candidate Answer: Gandhara
IYURT

Question 31.Which of the following Pallava Kings assumed the title of "Vatapikonda" after defeating and slaying the great Chalukyan King Pulekesin II

AT 7 q PIeA-8 Toold T o TTFT TFHIE TS Tooh (T |11 TRITSTeT e HIT IoTehl T ileh ‘dTeTIshisT I [EaTe gTier fohar ?

Options:

1) Narsingh Varman I
g g

2) Mahendra Varman 1
Fewg a9 |

3) Parameshwar Varman I
TFRTT THA [

4) Nandi Varman

FAeer T

Correct Answer: Narsingh Varman I
R T3 |
Candidate Answer: [ NOT ANSWERED ]

Question 32.The land forms formed by wave erosion is

W—mﬁaﬂﬁmﬂﬁaﬁwm%?
Options:

1) Spit

Fendr T

2) Beach

TAg-aT

3) Cave

T

4) Barrier island
qer-geh

Correct Answer: Cave
ITRT

Candidate Answer: Barrier island

g

Question 33.Which one among the following is not an electro-magnetic wave?

PR # & P-4 Rgd- g ator g & ?
Options:

1) X-Ray

-

2) R-Ray

IRX

3) Cathode Ray

FAB-Y

4) Infrared Ray

SRS Y (37aXad faor)
Correct Answer: Cathode Ray
FAB-Y

Candidate Answer: R-Ray
IRX

Question 34.Which one of the following is a good electrical conductor?

AfFatad 7 & Flt-ar sreoT fagd-re® § ?



Options:

1) Graphite
AT

2) Diamond
Ry

3) Peat

e

4) Charcoal
THET T PRI

Correct Answer: Graphite
AFIST

Candidate Answer: Charcoal
FTHIY T I

Question 35.Growing agricultural crops between rows of planted trees is known as

st F AR F &I 37 el 39T S FIT Fgd § ?
Options:

1) Social forestry

e arferdr

2) Jhum

kgl

3) Taungya system

e qoTelr

4) Agro forestry

F arferdr

Correct Answer: Taungya system

e gotelr

Candidate Answer: [ NOT ANSWERED ]

Question 36.The Union Government on 22 May 2016 appointed whom as the new Lieutenant Governor of the Union Territory (UT) of Pondicherry

22 | 2016 I FG TWHR o Y NTET e T &1 &1 Toqdrel fgera formar 2
Options:

1) Kiran Bedi

[EzCkr)

2) Kalyan Singh

FHeamT f&g

3) Ram Naik

H llSeh

4) Mukul Sangma

el FaTT

Correct Answer: Kiran Bedi
[EzCr)

Candidate Answer: Kiran Bedi

TR &

Question 37.Sending a frame to a group of stations is known as

@?Fﬁé?qqa#ﬁmﬁaﬁaﬁwa%ﬁ%?
Options:

1) Single casting

Tarer FAIrEEaT

2) Spreading

g

3) Multicasting

ACIRITECIT

4) Casting

Fifecar

Correct Answer: Multicasting

FolImeeaT

Candidate Answer: Multicasting

Earzacair=)y

Question 38.Prince of Wales Cup is associated with

T 3iTh 3o ' F9 50 T ¥ Fafud § ?



Options:
1) Rugby
keri

2) Golf
Elir

3) Polo
qrer

4) Chess
Sor
Correct Answer: Golf
Elircea

Candidate Answer: [ NOT ANSWERED ]

Question 39.A drainage pattern where a river is joined by its tributaries approximately at right angles is

ST T aiaa=, [ & T sAfedr dead &, 98 a7 Fedarg ?

Options:
1) Dendritic

2) Trellis

STl (W)

3) Rectangular

3MAATRR

4) Radial

B

Correct Answer: Trellis

ST ()

Candidate Answer: [ NOT ANSWERED ]

Question 40.Who was the founder of the Indian Reform Association in 1870?

ay 1870 3 'HRAT GUR el & HEIh it & ?
Options:

1) Debendranath Tagore

Eoeg AT LR

2) Keshab Chandra Sen

HRT Teg; el

3) Rammohan Roy

TH ARGt T

4) Dayanand Saraswati

ETeleg, TREIY

Correct Answer: Keshab Chandra Sen
ARG T Yol

Candidate Answer: Rammohan Roy

TH ARGl I

Question 41.Which Constitutional Amendment Act deals with the disqualification of MPs and MLAs?

FleT-a7 TfgeneT e JfAfaas Tue geear 3R AU T gt 1 33egar & dafeyud § ?
Options:

1) 42nd Amendment Act

4297 TRy g

2) 52nd Amendment Act

524t Teera e

3) 62nd Amendment Act

6247 Tt e

4) 32nd Amendment Act

32a7 g e

Correct Answer: 52nd Amendment Act
5247 geiere e

Candidate Answer: [ NOT ANSWERED ]

Question 42.Which of the following increases the rate of heart beat?

Fed 1 s i afa Arfaf@d 7 & fFrad g g 2



Options:

1) Peripheral nerves

qftef afer

2) Sympathetic nerves

TRy et

3) Parasympathetic nerves

e T3

4) Cranial nerves

e ATIehT

Correct Answer: Sympathetic nerves
3fegerad cif e

Candidate Answer: [ NOT ANSWERED ]

Question 43.The deficiency of Niacin-a vitamin of B complex group causes the disease

Tt - it e f-alecoes 7 1 U affeT §, 1 F#r & FieT-ar1 W91 11 § 2

Options:

1) Marasmus
Earierar:y

2) Pellagra

Yeram

3) Rickets

Reew

4) Night-blindness
Tafelr

Correct Answer: Pellagra

Yo

Candidate Answer: Marasmus

R

Question 44.The core of the earth is also known as

G2eY & R (heard #19T) 1 3 FhH A1 § ST ST ?
Options:

1) Lithosphere

I Hsel

2) Mesosphere

AAEHRR

3) Barysphere

TEHST

4) Centrosphere

IRARE Feg; (F=gEhIIT )
Correct Answer: Barysphere
IEHST

Candidate Answer: Mesosphere

AAERRIR

Question 45.Iron and manganese present as pollutants in water cannot be removed by

STl 7 JgWe! & &9 H Hisg olig AT AIrelior a1 forereh GaRT 6T gerdT S Hhell § ?
Options:

1) oxidation followed by settling and filtration
et RTe R T 3ifedienor &

2) chlorination

FARIATRIOT

3) ion exchange process

3T fafaes ufshar

4) lime soda process or manganese zeolite process
AT FsT ufskar a1 Hereler foaterse wfshar

Correct Answer: chlorination

FARIRTOT
Candidate Answer: [ NOT ANSWERED ]

Question 46.A pair of contrasting characters controlling the same trait is called

TR 90Tt T 7, ST GA TANNATHT T LTI Y, FAT hgollell & ?



Options:

1) factors

Ucah

2) loci

ECICREEIN)

3) allele

?ﬂﬁm (Telrer)

4) lineage

U R

Correct Answer: allele
FaAteRedT (Velle)
Candidate Answer: [ NOT ANSWERED ]

Question 47.The antiparticle of an electron is

Slerciel T Tedl-Tifeahel AT Y ?
Options:

1) Positron

qifergre

2) Proton

el

3) Alpha particles
TowmT-uiféahal

4) Beta particles
Srer-uiféarer

Correct Answer: Positron

giferere

Candidate Answer: Alpha particles
THT-aTfeahel

Question 48.The polar regions are sparsely populated because of

gferr ar 1 aarey et wRol & e 8 2
Options:

1) lack of minerals

@ferst uerf fr s

2) unsuitable climatic conditions

U STy &=

3) infertile land

ST 5

4) mountainous topography

9T Fresia

Correct Answer: unsuitable climatic conditions
YT AT B M

Candidate Answer: [ NOT ANSWERED ]

Question 49.Algal bloom results from

AaTeT & Treled T FAT FHROT BT § ?
Options:

1) Global warming

Felarer arfeeT

2) Salination

ofdoTAT

3) Eutrophication

GAoT (FEIhehereT)

4) Biomagnification

ST 3mae (S-Aereiftherere)
Correct Answer: Eutrophication
QoT (FEIthehereT)

Candidate Answer: [ NOT ANSWERED ]

Question 50.Which of the following pairing is incorrect

TFATATd & @ hleT-a1 Ja eI e & ?



Options:

1) Hygrometer - Water vapour content of the atmosphere
BTSN - ARIHSE T TS 3727

2) Lactometer - Specific gravity of liquids

SFSIHIR - Xl & fARIST Telea

3) Anemometer - Speed of the wind

UferaEe- arg

4) Seismograph - Earthquakes

BEAI - 37T

Correct Answer: Lactometer - Specific gravity of liquids
eI - dXel & fafse geica

Candidate Answer: Anemometer - Speed of the wind
UlAAEeT- g & I

Question 51.A can do a piece of work in 20 days and B in 15 days. With help of C, they finish the work in 5 days. C can alone do the work in

A TR 1A Y 20 T & FT ThaT & 3R B 15 ot H R FohdT § C HI TEIAT T A 5 T 7 e FATCT & ofdd & | C 37ohell 38 1A Y et et 3 &yam ?
Options:

1) 5 days

5 feet

2) 6 days

6 feeT

3) 10 days

10 feet

4) 12 days

12 &t

Correct Answer: 12 days

12 feat
Candidate Answer: [ NOT ANSWERED ]

Question 52.A spherical lead ball of radius 6 cm is melted and small lead balls of radius 3 mm are made. The total number of possible small lead balls is

6 A7, T aTel Tk aMeT WY i difer b [erem X 3 .7, 3T arel B - S T Fr et To7Ts ST § | TRY 1 DI dielr dr Fonfaa awar = gt ?

Options:
1) 4250

2) 4000
3) 8005

4) 8000
Correct Answer: 8000
Candidate Answer: [ NOT ANSWERED ]

Question 53.At what percentage above the cost price must an article be marked so as to gain 33% after allowing a customer a discount of 5%?

TRl I o e Fed W S fehctel Tfcterd 3aeht 3ifehct ShaAc T ST foh aITgeh &l 5% HT Fe &1 o TN GhTaR i 33% T 16T &1 ?
Options:

1) 40%

2) 45%

3) 35%

4) 47%

Correct Answer: 40%

Candidate Answer: [ NOT ANSWERED ]

Question 54.The four sides of a quadrilateral are in the ratio of 2:3:4:5 and its perimeter is 280m. The length of the longest side is

Tl TrqefsT T AR ST 2:3:4:5 & IguTcl & § 3R 35 aRFY 280 #ex &1 T o=l oo B S FABY ?
Options:

1) 100m

100 #Hex

2) 150m

150 #AreX

3) 175m

175 AreX

4) 180m

180 X

Correct Answer: 100m
100 Hiex

Candidate Answer: 100m
100 Hex



Question 55.Kamal has some apples. He sold 40% more than he ate. If he sold 70 apples, how many did he eat?

FHA & TH TS A & 3T ST TWIT 37 40% 317 | I 3807 70 AT S A TAGT 1 38 vkl a9 @Y ?
Options:

1)18

2) 42

3)50

4) 90
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

Question 56.A train 100 m long is running at a speed of 120 kms/hr. The time taken to pass a person standing near the line is

100 #eX o< Teh ToRMET 120 foh. 5. /8¢ I IFIR T Tl T & | YT I & U @S Ueh T ol IR el H 3 fehcloll THT 313 ?
Options:

1) 1 second

1 HHUs

2) 3 seconds

3 ¥dUs

3) 5 seconds

5 ¥hUg

4) 7 seconds

7 ¥HU3

Correct Answer: 3 seconds
3 a%vs

Candidate Answer: [ NOT ANSWERED ]

Question 57.

Ifx2+ 5x+ 6 = 0, then the value of

Zx u
R b,
xs —TFx+6

AfE 22+ 5x +6 = 08T @ ——— &l HIsf qATT?

P —Tx+6

Options:
1)

2
o

I W=

Correct Answer:

o =

Candidate Answer:

|
Ll =

Question 58.If a+b=5 and a-b=3, then the value of (a2+b?) is

e a+b=5 31T a-b=3 &Y A (a2+b?) T AR TART ?

Options:
1) 17

2) 18
3)19

4) 20
Correct Answer: 17



Candidate Answer: 17

Question 59.A 8 cm long perpendicular is drawn from the centre of a circle to a 12 cm long chord. The diameter of the circle is

T et & Fog @ 12 T, o SiaT e U 8 W, AT ol Wil STl § | Jood 3T S A fhfore ?

Options:
1) 10 cm
10 €.
2) 12cm
12 8.4
3) 16cm
16 |.77.
4) 20cm
20 @7,

Correct Answer: 20cm
20 .7

Candidate Answer: [ NOT ANSWERED ]

Question 60.The point equidistant from the sides of a triangle is called

T8[ST i1 SSTI3TT & WHeIeY fareg) T Fhgeildl § ?
Options:

1) Circumcenter

IRFes

2) Incentre

I:Feg

3) Orthocentre

EreEry

4) Centroid

Coecy

Correct Answer: Incentre
HaFen

Candidate Answer: Circumcenter

IRehee

Question 61.The value of cosec260° + sec260° - cot260° + tan230° will be

c0sec?60° + sec?60° -cot260° + tan230° T HeT FT 1o ?

Options:
1)5

2)
1
e
2

3)
il
s
3

4)
2

b=
3

Correct Answer:
5 1
3
Candidate Answer: [ NOT ANSWERED ]

Question 62.A man buys a table and a chair for Rs. 500. He sells the table at a loss of 10% and the chair at a gain of 10%. He still gains Rs.10 on the whole. The
cost price of chair in rupees is

IS AT Teh AT AR Teh Al Rs. 5009 Tl & | T8 3T 10% 1 @it TR 3R FF 10% o ofter o oy &1 &1 T 871 3 oot T X Rs. 100 T oIS B1elT | it o7 561
T T A FABT ?

Options:

1) Rs.200

2) Rs.250

3) Rs.300

4) RS.350



Correct Answer: Rs.300
Candidate Answer: [ NOT ANSWERED ]

Question 63.The least number that must be added to 8961 to make it exactly divisible by 84 is

8961 # T A eecTd HE&AT SIS o 7 84 & yoia: fyewrswr gr = 2

Options:
1) 27

2)57
3) 141

4) 107
Correct Answer: 27
Candidate Answer: 57

Question 64.The average age of a class of 39 students is 15 years. If the age of the teacher is included, then the average increases by 3 months. Find the age of the
teacher.

39 BT &1 U FaT 7 3T I 15 a¥ §| AR 3reardes 3y o Sis & SC A e I 3 A 96 ST §1 eATIe S 3 AT Hifore ?

Options:
1) 30

2)25
3)35

4) 40
Correct Answer: 25
Candidate Answer: [ NOT ANSWERED ]

Question 65.

1 1 =
Ifx=a+- andy = a— - , then the value of x* + y* — 2x?y% is
a a

1 1
IfEx=a+ ZHR y = o+ @t ert2dy2 o FIE AT w02
a a

Options:
1)4

2)8
3) 16

4) 64
Correct Answer: 16
Candidate Answer: [ NOT ANSWERED ]

Question 66.
In AABC and ADEF,if ZA=50", £B=70", £C=60", 2D =60"
,£E=70%and £F =50°, then

AABC 3T ADEF # 976 £A=50° £B=70° £C=60° £D=60° £E=70°H{ £F=50° & @l

Options:
1)
AABC ~AFED

2)
AABC ~ADFE

3)
AABC ~ AEDF

4)
AABC ~ A DEF

Correct Answer:
AABC ~AFED

Candidate Answer: [ NOT ANSWERED ]



Question 67.
Ina AABC ,if 42£A=3 £B=12.4C, find £A

AABC # TG 42A=3 £B=12 £C, & Al ZAHIeT {7

Options:
1) 22.5°

2) 90°
3) 67.5°

4) 112.5°
Correct Answer: 67.5°
Candidate Answer: [ NOT ANSWERED ]

Question 68.
If Sind + Cosech = 2 , the value of Sin" B+Cosec’ O is

AME sind + cosec 8 = 28L,AT  sin™8 + cosec™ 8 &I Al 4T GHEN?
Options:

1)

2|'

2)
1
2n

3)2

4)0
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

Question 69.If 2X+4 - 2X+2 = 3, then the value of 'X' is

g 2x+4 - X+2 = 3 g1 Y 'Y T A AT PfeIT ?

Options:
1)0

2)2
3)-1

4) -2
Correct Answer: -2
Candidate Answer: -1

Question 70.Two persons are on either side of a temple, 75 m high, observe the angle of elevation of the top of the temple to be 30° and 60° respectively. The
distance between the persons is

& afFd, T 75 AR 5 AfTeX % Aalid oRt W, v el Y 7 @3 § 3R AR & oY &1 3eaer ot e 3 ue @ 300 3% g@t @ 600 sl gar &1 et
fFat & dre e gl & 2
Options:

1) 173.2m

173.2 A

2) 100m

100 Hex

3) 157.7m

157.7 #rex

4) 273.2m

273.2 WX

Correct Answer: 173.2m
173.2 e

Candidate Answer: [ NOT ANSWERED ]

Question 71.If the difference between the compound interest and the simple interest on a certain sum at the rate of 5% per annum for 2 years is Rs. 20, then the
sum is

IfE 1S aeT AR 5% af¥ier e o) 2 a¥ & AT & Sl & A 38 W) o9 aTel Tehgfg saTeT 3R AIUROT &47eT # Rs. 20 7 3w g, o) IasU 98 AT AT ?



Options:
1) Rs. 2000

2) Rs. 4000
3) Rs. 6000

4) Rs. 8000
Correct Answer: Rs. 8000
Candidate Answer: [ NOT ANSWERED ]

Question 72.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.

STt & 0T F gTe 37t (50 F T ) Y g arel fAe=iTaf@d 3maa T &1 3regast Y 3R Aeafaf@a ueat & 3car §fSw|

A
[T S ——— J—

a5
Number | agf= = = — — — - — = =

of 15
Students{

30
25
N P - - ——
15— = = — ===
T e e L. 1 ] -
5

0 5 10 15 20 25 30 33 40 45 350

N

Mathematics

If the pass marks in maths is 31, the number of students who failed in maths is

e foTT & 3echiof 37 31 ammﬁmgmﬁmgmwm?

Options:
1) 10

2)15
3)20

4) 25
Correct Answer: 15
Candidate Answer: 20

Question 73.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.
AT & AT 7 ITod 37T (50 7 & ) Fr &R aTel Fetfoiid 3mad o &7 e a 3R fsfoi@d geat & 3car afav |

T

S e = =

43

Numberlaol = — — — — = — - o
of
Students

a5
3o
23

== = == = — =

15— = = ——— -
B IO R - 1 ] -
5

O 5 10 15 20 25 30 35 40 45 50

N

Mathematics
Total number of students in the class is
T 3 BT hT Fool TEAT TSV ?
Options:
1) 120
2) 125
3) 130

4) 135
Correct Answer: 135
Candidate Answer: [ NOT ANSWERED ]



Question 74.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.
SIET & AT 7 wred 37 (50 H ¥ ) Y @i ared Feafaf@d 3maa R &7 3reaae H 3R Feafaf@d gt & 3car dfaw

T

S e = =

45
Mumber | g0 }— - — — — — - — - =

of 15
Students

a0
25
Y] T ———
15 = =
] I e 5 PR
5

o 5 10 15 20 25 30 35 40 45 50

N

Mathematics

The percentage of number of passed students is (31 is the pass marks)

Hﬁgﬁrm#m(wﬁ?mﬁ)w? (3ecioT g1 & T 31 37 3fAaT §1)

Options:
1)

8
8519
9/&

2
86 2%
9 o

3)
87 i o
9 o
4)
88 e bl
9 (1]
Correct Answer:
8
88 ) Y%
Candidate Answer: [ NOT ANSWERED ]
Question 75.Study the following histogram of marks in mathematics (out of 50) of students in a class and answer the following questions.
STET & AT H ured 37 (50 H ¥ ) Y =i arel Reafaf@d 3maa R &7 3reaae H 3R Feafaf@d 9ot & 3car e

T

S e = =

45
Mumber | g0 }— - — — — — - — - =

of 15
Students

a0
25
Y] T ———
15 = =
] I e 5 PR
5

o 5 10 15 20 25 30 35 40 45 50

N

Mathematics

If the students have got the marks out of 50 and if A+ grade has been declared for above 90%, then the number of students who have got A+ grade is

Ife; oTEt @t 50 3 & 37 T 377 g 38K 90% & 318 37k UTcd Shiet aTel STE1 Y A+ e ST at fhdst orEt 1 A+ fear arar ?
Options:

1) 10

2) 20

3)30

4) 40

Correct Answer: 10

Candidate Answer: [ NOT ANSWERED ]

Question 76.In the following question, out of the four alternatives, choose the word which best expresses the meaning of the given word and click the button
corresponding to it.

INVIGORATING



Options:

1) VIBRATING

2) REFRESHING
3) EXAGGERATED
4) ACCELERATING

Correct Answer: REFRESHING
Candidate Answer: ACCELERATING

Question 77.In the following question, out of the four alternatives, choose the word which is opposite in meaning to the given word and click the button corresponding
to it.

EVADE

Options:

1) INVADE

2) ESCAPE

3) SHUN

4) CONFRONT

Correct Answer: CONFRONT

Candidate Answer: [ NOT ANSWERED ]

Question 78.Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word and click the button corresponding to it.
Options:

1) Phenamenon

2) Phenomenon

3) Phenominon

4) Phenomenan

Correct Answer: Phenomenon

Candidate Answer: Phenomenon

Question 79.1n the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

He is jealous for (A)/my success (B)/and wants to destroy me.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: A

Candidate Answer: A

Question 80.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

The main purpose of the visit (A)/is to develop a close relationship (B)/ among the two countries.(C)/No Error(D)
Options:

1)A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: C

Question 81.In the following questions, one part of the sentence may have an error. Find out which part of the sentence has an error and click the button
corresponding to it. If the sentence is free from error, click the "No error" option.

I left (A)/no stone unturned(B)/to achieve for my object.(C)/No Error(D)
Options:

1) A

2)B

3)C

4)D

Correct Answer: C

Candidate Answer: B

Question 82.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

I cannot conceive of accepting the post.
Options:

1) he

2) his

3) him

4) he'll

Correct Answer: his

Candidate Answer: he'll



Question 83.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

The maestro's son has no taste music.
Options:

1) about

2) with

3)in

4) to

Correct Answer: in

Candidate Answer: [ NOT ANSWERED ]

Question 84.The sentences given with blanks are to be filled with an appropriate word(s). Four alternatives are suggested for each question. For each question,
choose the correct alternative and click the button corresponding to it.

Rita promised to come but she never turned
Options:

1)in

2) out

3) down

4) up

Correct Answer: up

Candidate Answer: up

Question 85.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Weal and woe

Options:

1) Friends and enemies

2) Be in danger

3) Adversity

4) Good times and bad times

Correct Answer: Good times and bad times

Candidate Answer: [ NOT ANSWERED ]

Question 86.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Call in question

Options:

1) Summon as a witness

2) Doubtful

3) Prove a theory

4) Challenge

Correct Answer: Challenge

Candidate Answer: Summon as a witness

Question 87.In each of the questions, four alternatives are given for the Idiom/Phrase. Choose the alternative which best expresses the meaning of the Idiom/Phrase
and click the button corresponding to it.

Make both ends meet

Options:

1) Live within means

2) Achieve a solution

3) Live among people

4) End of the road

Correct Answer: Live within means

Candidate Answer: Achieve a solution

Question 88.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

A drug which makes one see things that are not really there.
Options:

1) Aphradisiac

2) Steroid

3) Carcinogen

4) Hallucinogen

Correct Answer: Hallucinogen

Candidate Answer: [ NOT ANSWERED ]

Question 89.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

Providing relief
Options:

1) Reissue

2) Reprieve

3) Rejoinder
4) Refuge



Correct Answer: Reprieve
Candidate Answer: [ NOT ANSWERED ]

Question 90.0ut of the four alternatives, choose the one which can be substituted for the given words/sentences and click the button corresponding to it.

The philosophy of putting another's welfare above one's own.
Options:

1) Agnosticism

2) Polytheism

3) Altruism

4) Iconoclasm

Correct Answer: Altruism

Candidate Answer: [ NOT ANSWERED ]

Question 91.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

This book is adopted to the needs of beginners.
Options:

1) adapted to

2) adapted for

3) adopted for

4) No improvement

Correct Answer: adapted to

Candidate Answer: [ NOT ANSWERED ]

Question 92.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement”.

There are a good many tigers in this forest.
Options:

1) some good many tigers

2) the good many tigers

3) an good many tigers

4) No improvement

Correct Answer: No improvement
Candidate Answer: [ NOT ANSWERED ]

Question 93.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

London is one of the oldest towns of England.
Options:

1)in

2) at

3) besides

4) No improvement

Correct Answer: in

Candidate Answer: in

Question 94.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

You will be late if you do not leave now.
Options:

1) will not leave now

2) did not leave now

3) left now

4) No improvement

Correct Answer: No improvement

Candidate Answer: [ NOT ANSWERED ]

Question 95.A sentence/a part of the sentence is underlined. Four alternatives are given to the underlined part which will improve the sentence. Choose the correct
alternative and click the button corresponding to it. In case no improvement is needed, click the button corresponding to "No improvement".

People ask me why I decide to start a new magazine.
Options:

1) will decide

2) am deciding

3) have decided

4) No improvement

Correct Answer: have decided
Candidate Answer: am deciding




Question 96.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

Learning is defined as

Options:

1) the knowledge of that which is before us

2) the knowledge about us

3) the knowledge of that which is not generally known to others
4) the knowledge related to the businesses of men

Correct Answer: the knowledge of that which is not generally known to others
Candidate Answer: the knowledge of that which is not generally known to others

Question 97.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

The most learned man is he who

Options:

1) knows about all the principal characters in history

2) sees not with the eyes of others

3) is acquainted with the streets of Constantinople and Peking

4) knows the most of what is farthest removed from common life and actual observation.

Correct Answer: knows the most of what is farthest removed from common life and actual observation.
Candidate Answer: knows the most of what is farthest removed from common life and actual observation.

Question 98.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

A learned man, as described in the passage,
Options:

1) cares about men and things

2) does not care about men and things

3) cares about the shapes of objects.

4) cares about his neighbours

Correct Answer: does not care about men and things
Candidate Answer: cares about men and things

Question 99.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives and
click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

The passage suggests that a learned man
Options:

1) understands his neighbours

2) does not know his old acquaintances

3) is not concerned about names and dates
4) is interested in travelling

Correct Answer: does not know his old acquaintances



Candidate Answer: [ NOT ANSWERED ]

Question 100.A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four alternatives
and click the button corresponding to it.

Learning is the knowledge of that which is not generally known to others, and which we can only derive at second-hand from books or other artificial sources. The
knowledge of that which is before us, or about us, which appeals to our experience, passions, and pursuits, to the bosoms and businesses of men, is not learning.
Learning is the knowledge of that which none but the learned know. He is the most learned man who knows the most of what is farthest removed from common life
and actual observation. The learned man prides himself in the knowledge of names, and dates, not of men or things. He thinks and cares nothing about his next-door
neighbours, but he is deeply read in the tribes and castes of the Hindoos and Calmuc Tartars. He can hardly find his way into the next street, though he is acquainted
with the exact dimensions of Constantinople and Peking. He does not know whether his oldest acquaintance is a knave or a fool, but he can pronounce a pompous
lecture on all the principal characters in history. He cannot tell whether an object is black or white, round or square, and yet he is a professed master of the optics
and the rules of perspective.

The given passage implies that

Options:

1) knowledge of the learned is exclusive to them

2) a learned man cannot deliver lectures

3) a learned man is not interested in Calmuc Tartars

4) a learned man is not aware of the optics and the rules of perspective
Correct Answer: knowledge of the learned is exclusive to them
Candidate Answer: a learned man is not interested in Calmuc Tartars



